X = range(1l, 21, 2)
y = ["hello", 3.14, 2020]
list(x)

type(y) == list

y.append("new")

c = [1, 2, 3]

dl, d2 = c[:], c[:]
dl.append(["new", "year", 2020])
d2.extend(["new", "year", 2020])
print(dl)

print(d2)

print(y[@])
print(y[0@][4])

print(y[-1])
print(y[-4][-1])

y[@] = "hello there!"”
print(y[0:2])

print(3.14 in y)
print(3.14 not in y)



z = ["ok", 999] + vy
z += [17]

print(f"length of z is {len(z)}")

nested = ["zero index", y, z]

print(nested)

print(f"length of nested is {len(nested)}")
print(nested[2][2][6:11])

y.remove(2019)
print(y)

x=1[1, 2, 4,1, 6, 1, 1, 8, 1]
x.remove(1l)
print(x)

while 1 in x: x.remove(1l)
print(x)



